
SAP ABAP table /DSD/ST_CSCEN_SH {Assignment shipment <-> delivery scenario}

_DSD_ST_CSCEN_SH

CLIENT [CLNT (3)]

CNTYPE [CHAR (1)]

SHTYP [CHAR (4)]

TPLST [CHAR (4)]

SCENARIO [CHAR (8)]

_DSD_ST_CSCEN

CLIENT [CLNT (3)]

SCENARIO [CHAR (8)]

 /DSD/ST_CSCEN_SH-SCENARIO = /DSD/ST_CSCEN-SCENARIO 
0..N

1

T000

MANDT [CLNT (3)]
 /DSD/ST_CSCEN_SH-CLIENT = T000-MANDT 

0..N
1

TTDS

MANDT [CLNT (3)]

TPLST [CHAR (4)]

 /DSD/ST_CSCEN_SH-TPLST = TTDS-TPLST 

0..N

1

TVTK

MANDT [CLNT (3)]

SHTYP [CHAR (4)]

 /DSD/ST_CSCEN_SH-SHTYP = TVTK-SHTYP 

0..N

1


